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Q.1 Choose the correct option in the following questions, mention the correct option in the answerbook. [10]
{1) Number of basic allocation in any row or column in Assignment Problem can be.....

(a) Exactly one {b) at most one {c) at least one (d) none of these

(2) The transportation technique or simplex method cannot be used to solve the assignment problem
because of ....... '
(a) degeneracy (b) nou-degeneracy (c) square matrix (d) none of these

(3) An assignient problem is considered as a particular case of a Transportation problem because
(a) the number of rows equals colunns (bY all wij =0 '
(c) all rim conditions are 1 (d) alt of above

(4) If player B plays strategy By with probability 1, then he plays the game with .o strategy.

(a) pure (b) mixed {c) minimal (d) none of these

(5) 'The saddle point in the game is ag = 3 then the value of the game is........
(a) 0 (b) 1 (c) 2 ()3 . '

Bl B2
(6) The value of the gamej AL} 3 ~2
A2| 5 12

@3 (-2 (@5 (@

7} In sequencing if smallest time for a job belongs to machine-IT then that job has to placed........ of
J
the sequence. .
(a} in the middle {b) at the beginning (c) at the end (d) none of these

(8) Processing time Mj; 's a1 ooovvevernnrs of order of processing the jobs.
(a) dependent (b) negligible (c) independent (d) none of these

[£2) [ is indicated by dotted arrow.
(a) burst event (b} merge event (c) dummy activity (d) none of these

(10) Dangling is a type of, v vveneenin network scheduling, _
(a) event. (b) activity (c) crror {d) none of these

Q.2 Attempt any Ten: : - (20}
(1) Give the mathematical formulation for assignment problem.

(2) What is an unbalanced assignment problem? How to resolve it?
[¢1I7 |1
All6|19;21
B|17!14}18
cile|23(11

(4) Explain the method to obtain saddle point of a game if it exists.

(3) Solve the assignment problem:

(5) Find the range of values of p which will render the entry (2,1) a saddle point for the followiug

Player B

game: B B
) A 1| P 7
Player A LT3
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(6) Find optimum strategy and value of the game for

A 1127119
Player A LTI 5

{7) Define: (i) Total Elapsed time (ii) Idle time on a Machine.

(8) Explain the principal assumptiohs made while dealing with sequencing problems.

(9) Give the optimum job sequence for the following sequencing problem

No.of Jobs |11 2 [ 3 4157675
Machine M, {36 { 1 [7]9(161 6
Machine M, (9131615 4] 8 [12

(10) What is dummy activity in network diagram?
' (11} Define Predecessor Activity:and Concurrent -Activity with figure,
(12) Explain types of common errors in drawing networks,

Q3

(a) Whrite the steps for solving an assignment problem by Hungarian method.

(b} Solve the following assignment problem:

1IN IV]V
LiH|10718( 5|9
2141131127191 6
3pS (3424
4115118117 ] 9 |12
511011196 114
OR
Q.3
(c) Solve the following assignment problem:
A|B|CiD|E
I]10f64][8]3
H{2 (1171716
HI| 5 110[11] 48
IIVI6 573725
Vi1 7|10y

(d} Find the Maximum assignment profit in the following A.P.:

albiclidie]f
13:22(16 (2319721
211191261167 27131
22(31124[20116]10
37125(29134 (2317
29123132128126129
3313326232719
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Q4.
(

a) Explain the dominance rules for game theory. [05]
(b) Solve the following game using graphical method [05]
' Player B
ITiyar v
711733 | 4
Player A TaTE T2 16
OR
Q4
(d) Solve the following game using the principle of dominance: ‘ o 105]
| Player B
By [By[By|Bsi By
Al9l3]118]0
Player A PR AERERE
A 5]6 2721
(d) Determine the optimum strategies for each player and also obtain the value of the following game: [05]
Player B
By | Ba | By | By
AlBgl6]2)8
Player A{Az | 81914159
As1 7] 573156

Q.5
(

a) Find the sequence that minimizes the total elapsed time required to complete the following tasks: (o8]

NoofJobs 11273 [4]5]67
Machine My |3 12[15 (6 (10| 119
1 Machine My |8]10110]6712)1 3
(b) Find the sequence by Johuson's Tothod that minimizes the total elapsed time and idle time for [05]

machine A and machine B required to complete the following jobs:

Job 1§273[4]5]6
Machine I [5]974]7]8|6
Machine IL[714{8(3]9]0
B oon
Q.5
(c) Give Johnsons algorithm for determining the optimal sequence for processing n jobs through two (04]
machines, ‘

(d) Find the sequence by Johnson’s method that minimizes the total elapsed time and idle time for i06]
machine A and machine B required to complete the following jobs: : '

Tagks AIB|C[D|EIF|G

Time on machine] |3 8|7:[4]9]8 7

Time on machine L | 4 |3]2] 0 ]114 3
Time on machine 111 6 ] 7|5 [11]5]6 12
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Q.6 A project has the following time schedule:

[10]
Activity | Time (month) | Activity | Time Tn month | Activity | Time In month
12 2 3~6 8 6-9 5
1-3 2 3-~7 5 78 4
1-4 1 46 3 7-9 3
2-5 4 5~ 8 1 -
Construct PERT network and compute total float for each activity and Find Critical path with its

duration.

OR

Q.6 For the following network diagram obtain the critical path, total float, independent float and free [10]

float,




